01 oyl Ja
D = {(x,¥): (x,¥) € R?} = R? .
2. f(0,0)=2(0)* +(0)*+ 7=7
f(—1,2)=2(-1)*+(2)*+ 7=13
f(3,5)=2(3)"+(5)*+ 7=50

f(0,—1)=2(0)"+(-1)*+7=8.
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_ x+ty
f(x'y)_x2+yz

Dy = B2\ {(0,0)} or D = {(x,y): (x,¥) € RZ, x + vy +# 0}
or Dr = {(x,y): (x,y) € R%, (x,¥) = (0,0)}

Bx+v:—3

fley) =——
D = {(x,y):(x,y¥) € R*x —y # 0}
or Df - {(I,Y}:(I, }F] S REJ}F :,tx}
3
f(x!:ir) =ﬁ
iales. (xy) ERZ (& x24+y 4320 Aad iy

Dy = {(x,y):(x,y) e R’} = R?

flay) =2
o La
-yl =0=yl=x> > y=+4x
Zadlgll Llill @l e Lo XY (giall 3 (x,¥) € RZ LiEl poex oo atltl llaia s
. y=4x (pefie.d Il
Dy = {(x,y): (x,y) € R%,y # tx}



flxy) =y +x

D = {(x,y): (x,y) € R*:y = —x}

flx,y) =y¥*—5x+6y

D, = {(x,v): (x,y) € RZ:y% — 5x + 6y = 0}

__ sin(xy)
f(IJ F) - \m

(r.y) ER? (Y 4+ 2% +y2 >0 oy (x,¥) € R? geead Bpeasin(xy) of L
Df = {(x,¥): (x,¥) € R?} = R? i

LA

flx,y) = e5 7 +1

D = {(x,¥): (x,¥) € R*} = R?
f(x,y) =¥ +In(xy)
il bt A g In(xy) Aplesl A W .(x,¥) € R? goasl dajee @™ 411

hades . xy >0 Lavic dijes Al oda o (o gl
Df = {{I,F): {IJ }r) S RZJI? = ﬂ}

2"03 u.v,qﬂ\ d;

o f(xy) = (x%+4y>)°
f_ = 5(x% + 4y®)*%. 2x = 10x(x2 + 4y®)*

f, = 5(x* +4y®)*. 12y% = 60y*(x* + 4y°)*

f(x,y)-x* +y?> +xy — 5 f(x,y) = sin(x? + y?)
Zx = 2X+y f, = cos(x* + y?).2x = 2xcos(x* + y?)

Z, = 2y + X f, = cos(x* + y?).2y = 2ycos(x* + y?)



fxy)=x*+y?

Fi=3x? =2y
f(x.y) = e?*cos(3y)
= 2e** cos3y ff = —3e™ sin3y
f(x,y) = x% + y?
' 2x = Z—y-:
PN e
ool el Ja
2 2
e 2 i ¥ B e B
1+ xy? M T xy? = f(1,-1) 1+1x(-1)? 2
;. B 2yx P s 2x(-1) _—2__
f"_1+xy2xzy T+xy2 5, 1)—1+1><(—1)2_ .
1. f-x'= zx + yz = I.xx =
! R
£/ = 2xy = fyy=2x fiy = f)’{f e
3 15
2. G = —_—
fi 3x — 5y fy (3x — 5y)?
’_ —5 7 15
fy—3x-5y fy’=w
3
2. f(z,y) = 2 + 2% - 1;7
df 2
U—T(I,y) =27 — 3?
v) _3
%(L y) =4y + %
(’):‘2 T
(')ri (z,y)=2- bz—/'
92 f il
Tyg(l y)=4-2—
»Pf o
(z.y) = —



3 f('L', J) = ‘, +ry+7:+y
-(:)—(-'r,y) = dx+y+T7)f(z.y)

a—(z y) = (z 4+ 2y) f(x. y).
(’)%If
a?(z y) = (44 (dz +y + 7)) fz. ).

g‘%(z, y) = (2+ (z + 29)?) f(z, ).

0('.)1'_0;;(2: y) = (14 (z+ 2y)(dx + y + 7)) f(z,y).

4. f(x,y) =sin(z.y).
& (2,4) = ycos(ay).
31'

y

2

(’)' 2
—5(z,y) = =y sin(zy). A f
® dxdy

(z,y) = zcos(zy). —(z,y) = —2?sin(zy).

(x,y) = cos(zy) — zysin(zy).
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ooy Uslas a3 f(xy) = e cos3x

fp = —3e*¥sin3x s dall

fy = —3e %Y cos3x
fexr = —9e" % cos3x
fyy =9 €7 cos 3x
fax + fy}r = -9 % cos3x +9e Y cos3x =0

ooy Uslew 3ia3 fx,y) = 7Y cos3x Uil i agle



